

Missing Numbers in Equations (E)

Fill in the blanks.

$6 - \underline{\quad} = 4$

$7 - \underline{\quad} = 2$

$11 - \underline{\quad} = 3$

$\underline{\quad} - 1 = 7$

$\underline{\quad} - 8 = 2$

$\underline{\quad} - 7 = 1$

$7 - \underline{\quad} = 1$

$\underline{\quad} - 9 = 9$

$\underline{\quad} - 5 = 6$

$\underline{\quad} - 4 = 1$

$11 - \underline{\quad} = 5$

$10 - \underline{\quad} = 3$

$3 - \underline{\quad} = 2$

$\underline{\quad} - 6 = 8$

$14 - \underline{\quad} = 7$

$\underline{\quad} - 8 = 6$

$\underline{\quad} - 2 = 8$

$10 - \underline{\quad} = 1$

$10 - \underline{\quad} = 9$

$\underline{\quad} - 3 = 6$

$\underline{\quad} - 9 = 8$

$5 - \underline{\quad} = 2$

$\underline{\quad} - 8 = 3$

$\underline{\quad} - 9 = 3$

$\underline{\quad} - 2 = 4$

$\underline{\quad} - 7 = 9$

$7 - \underline{\quad} = 6$

$5 - \underline{\quad} = 3$

$10 - \underline{\quad} = 1$

$5 - \underline{\quad} = 1$

$\underline{\quad} - 8 = 9$

$7 - \underline{\quad} = 3$

$8 - \underline{\quad} = 6$

$10 - \underline{\quad} = 5$

$10 - \underline{\quad} = 5$

$\underline{\quad} - 8 = 7$

$11 - \underline{\quad} = 6$

$\underline{\quad} - 4 = 9$

$9 - \underline{\quad} = 4$

$\underline{\quad} - 8 = 2$